
 
                                                                                                                                                                                                                 

Installation Instructions for 15796 
Universal Throttle Linkage 
 
 
Part                                                    Qty. 
Throttle Linkage Turnbuckle                1  
1/4"-28 Threaded Rod  RH                  1 
1/4"-28 Threaded Rod  LH                   1 
Linkage Swivel 1/4"-28 RH                  1 
Linkage Swivel 1/4"-28 LH                   1 
1/4"-28 SS Hex Lock Nut                     2 
1/4”-28 SS Hex Jam Nut RH                2 
1/4"-28 SS Hex Jam Nut LH                2 
Carburetor Linkage Bushing                4 
 
NOTE: Left hand threaded end of turnbuckle is marked with an engraved line. 
 
Installation Instructions: 
 
1. Install the Left Hand(LH) Threaded Rod into the Left Hand(LH) Linkage Swivel all the way and tighten with one Left 
    Hand(LH) Jam Nut. 
 
2. Install a second Left Hand(LH) Jam Nut onto the Left Hand(LH) Threaded Rod followed by the Turnbuckle. DO NOT 
    tighten at this time. 
 
3. Install Left Hand(LH) Linkage Swivel onto the vehicles Throttle Lever using the supplied Carburetor Linkage 
    Bushings and one SS Hex Lock Nut. 
 
4. Install the Right Hand(RH) Threaded Rod into the Right Hand(RH) Linkage Swivel all the way and tighten with one 
    Right Hand(RH) Jam Nut. 
 
5. Install a second Right Hand(RH) Jam Nut onto the Right Hand(RH) Threaded Rod. 
 
6. Install the Right Hand(RH) Treaded Rod into the Turnbuckle while aligning the Right Hand(RH) Linkage Swivel up 
    with the carburetor linkage using the supplied Carburetor Linkage Bushings and one SS Hex Lock Nut. 
 
7. Adjust the Turnbuckle to desired length ensuring the Left Hand(LH) and Right Hand(RH) Threaded Rods are of equal
    distance and tighten Jam Nuts. 
 
8. Check throttle linkage operation. 
 
 

SS Hex Lock Nut 
Carburetor Linkage Bushing 

Carb. Linkage                                                                                                                                                       Throttle       
                                                                                                                                                                               Lever 

 
Carburetor Linkage Bushing 

 
 
 
 

 
 
   Linkage Swivel RH                                                                                                                             Linkage Swivel LH 
         SS Hex Jam Nut RH                                                                                                                SS Hex Jam Nut LH 
                   Threaded Rod RH                                                                                                     Threaded Rod LH 
                         SS Hex Jam Nut RH                                                                                     SS Hex Jam Nut LH 
                                                                          Turnbuckle 
 

                                         1-800-345-4545   jegs.com 


